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(@cualarT-cflenL_gsmer Ggm@LiL 64 Lssmismerd Clsmes(HeTerg))

(This question-cum answer booklet, consists of 64 pages)

SiMeyenraset | INSTRUCTIONS

(S& a5 Mleyemrsenst el eivTeniiLigMTigsT Seummoe esumnmn Ceustor(b)

(Candidates shall comply with the following instructions)

1. eavenriiugryrser, @euelerm-ala_ssmer Gam@Lil Cwrssbd 64 Lsshismeds Csmem(bHererg
craLiens (psaled 2 Ml Qg Qsmearer Couamr(Hid. QS6gTELIAD gCaseID GemmuTigHLILIErT,
o Larquns Geum Gamgleu Gsieys samsrailiurerflb - Casrfll Cupms  Camerer
Gauer(HLd.
Candidates shall first ensure that this question-cum-answer booklet contains 64 pages.
In case if any defect is found in this booklet, they can request for replacement from the
invigilator immediately.

2. geauleumm olameihEh salssaliuns el erpgloushasear QLD @FI&sILL (HeTerg).
Marentiiugmyrger elCeinm alammelh@n el wellss assiul L @Lsdld wlHGw
denLweflss Ceaiarpd. olewiwelss eassiulr @QLsdhEe GeuelCu  eranguyd
CT(LPSHSHTnL TG).

Space has been provided to write the answer for each question. Candidates have to
answer the questions only in the space provided for that question. They should not write
anything outside the space provided.

3. elareRTILgTyiTEeT cllermggmartl e geuGleum(m Mgy SPleymssLiLc (Herar
cramaniisamsulonear alamsseEnsE WLLHGL o wealss Ceuamrhb. <isHE@E Wenswmen
crarentisansuiloorar ellammasEns@ e wealssme, geubleumm Wflafer (pigeiaib Wenswmer
crarenilsanasuiler aflenL wellEsiul Lanel sasdled eT(HSGISCSTaTeTLILIL DT L MF).
Candidates should answer the number of questions as instructed in the question paper
in each section. If more than the required number of questions are answered, the

additional questions answered in excess at the end of each section will not be taken into
account.
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4.  Newmenriugnyiser smseng Udle| caamman QFCsTGUGD ThS QL SHNID T(PSEHEnLTG].
@ps sidleyamyenw Bmibd elarenriiugTyiseErse o fu sariamen eldssiL@mib.
Candidates should not write their register number anywhere in this booklet. Suitable
penalty will be imposed on the candidates who violate this instruction.

5. Qeudiamm-aflen s Gsr@glile odamssdr swWp wwOHMDL Qb egeumisaic) o cTerer.
Smarsg Qammsaiaib nidle augelild srriul(HeraranelCul (pigeiTaTanal.
In this question-cum-answer booklet, questions are in Tamil and English versions.
In all matters, English version is final.

6. amariiugnrisdar @Qng edarm-elle. s Qam@Elddmhg Hss sSTeverw b HfSsieN &
Fol_MMg).

Candidates should not tear off any leaves from this question-cum-answer booklet.

7. @5Csienes QUMTMISTIMT, DAP&TEH 6T(PFIEUSHETEAID, eT(W&EILIGempuilandl er(pgieushansaib
Saflwng SHNCLETSHET @FISsLILL6S0eme.
There is no reservation of marks for neatness of writing and correctness of spelling in
respect of this examination.

8.  dlamanriugnrise sigsb alamrge Cumerm elarmsseErsE el weflsa@d Curipsg Shiseng
QuuengCuir, udCeuamaenmGuiT 6T (ps&amLMg. smsers Guwfed aasGuriiudleyb
Si@indluldeame. <2{GUG D TEuT NeTTEs EHE S, udleafl @6 (s MGt
@OudCiul Gerer Guwi wHmibd wsaeflewGu LweruBhssCou e (H b.

Marrsaatier  Guwm, @seudl  pHumes @HMUGnuLelomaotuaien, ‘elipiT,
‘CQuoip™ paeullseaild @ <, @ DG eT&eD Ul @F DDOG eT&Hev eTdHev erdev GumeTm
Qurgis Quwirgener LI HCW er(psCouaT@HIb.

Candidates should not write their name, register number while answering letter writing

type questions. Affixing signature in their name is also not permitted. To answer such
questions, the name and address given in the questions alone should be used.

If no name is given in the questions, they should write the general names like
ABC or XYZ or XXX in ‘From’ and ‘T'o’ addresses.
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UNIT — I
Aifle) —
SECTION — A

eoluy: 1) eaCeurm alamalhEn 150 Qemhaens@ Waned aflanweflssab.

Note : Answer not exceeding 150 words each.

1)  geubeurm elarmeilh@bd LSS WSHLICLeTsTSET.
Each question carries ten marks.

1) Gsrhssuulperer @hg cdammssaie craeuCuUad BremE NaTmEsEHsS,
oL (b ellewwefldsaib.
Answer any four questions out of five questions.

(4 x 10 = 40)

Q.No. | @@ sep&-iTslud s@meoalfts ibCussiar unsaluysmer allendlssa,b.
1 Discuss the contributions of Ambedkar as a socio-political leader.
Q.No. | slflpagde  Qumnmpernany GCséluarssensls  Urtyagler eudafluliLeg o @spTSE
9 sburb elfsater unisaltienus ubdl eflers@s.
Explain the role of Valliappan Olaganathan Chidambaram in spreading economic
nationalism in Tamil Nadu.
Q.No. | “@pHwu sspdr CumyrLsdar @mds s Saljorer Cudseaurisamssaflar e
3 SULIoTE @(Hhsg — edleurs).
“The Final phase of Indian Freedom Struggle was a phase of intense negotiations” —
Discuss.
Q.No. | @pdHwrelesr Qumg Cosemeu gallugliumer  Gyari umyd upHlyd; ger @ e
4 DIBISBIGETTET Y ETepeuranfl, Frigragen dluimes UHHILD 6T(ps)s.
Write about the Public Service Broadcaster Prasar Bharati in India and its two
major parts of Akashvani and Doordharsan.
Q.No. | B8l Cwré se@wloul updl elarsEs.
5 Explain the composition of NITI Aayog.
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Wil — s

SECTION — B

&y : 1)  geculbeurm alammeih@nd 250 Qemhaens s Wasnwed ctlanLwealsseyLb.

Note : Answer not exceeding 250 words each.

1)  geuleumm cllamain@d ufenesbg wH LG LS.
Each question carries fifteen marks.
1) Gar@ssuul_(hearer mbs elamssaid eamelCued BremE oSamTés@nhdsd

LR eleLwelégseyb.

Answer any four questions out of five questions.
(4 x 15 = 60)

Q.No. | smoafiggien @pglureile GCsAuangsden ewedles umselss LOGan srrmisamar
6 cMlemd 5.
Explain the various factors which contributed to the rise of nationalism in Colonial
India.
Q.No.
7 Spsdbduis spCuall gearg <rdlud odsrsas srprist LGHuld BlneluGurg,
@i g swumeriseer L GAFEEsETTISENL IO (HHS 2 ETELULITERT WSS
T TOasmaT_gl. alens@s.
The East India Company while establishing its political power in the Carnatic faced
real danger from the French rather than the Indian rulers. Explain.
Q.No. | &858l15 S@predt 2wt Humeiipr edm@id gadlul <irfler Sl sosuyb e
8 &I Cprésmsamerybd @Nsgl alleumgd CFwis.
Discuss about the Azadi Ka Amrit Mahotsav (AKAM) initiative with its main
objectives.
Q.No. | stps sow Eisdmss Quésshiser Qpdureiled Casluanssdbe sigdsend Simwssg) -
9 clleTé@s.
‘The Socio-Religious Reform Movements prepared the ground for nationalism in
India’ - Explain.
Q.No. | @pdureile @evemiug seps, sow EsH®mss QussnsameTs updl eflersEs.
10

Describe the Islamic socio-religious reform movements in India.
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UNIT — II
Hifley — o
SECTION — A

&y : 1)  geulbeurm allammeih@n 150 Qenhaens s Wanoed ctlanLwelsseyb.

Note : Answer not exceeding 150 words each.

1)  geueurm ellarmmeillh@bd LSS WHLICLETsTSET.

Each question carries ten marks.

1) Gsrhssuul_perer mbg lamssaild aenelCueaib BremE NaTmss@hsd,
LB el welése,b.

Answer any four questions out of five questions.

(4 x 10 = 40)

Q.No. | Guargdr wpenGearho euflpepser eraielry sups wparGardnssnE LhsealsEdng ?
11 Explain how the ways and means of Women’s Development support Social
Development?
Q.No. | eueri&dl uguumieied eerpr@ sflefar HHu saadmg e sig Corsmar
12 QULPBISE|LD.
Examine the new focus on Indigenous knowledge in the development. Analyse and
give suggestion.
Q.No. | Bleawrar Qur@marngry eatiédluld Gwbmss CAsmflorart GréflmardE Gurgomear
13 | seuand deigs iuQSnsT? &sHéEsTs elleurdlsse]n.
Is the enough attention given to the issue of child labour in sustainable economic
development? Discuss briefly.
Q.No. pfwreled ‘Quuiblar 2 Léd peobd Csramueams LELLMie Qauis.
b [ & G 2
14 | Analyse the emergence of Digital Healthcare in India.
Q.No. | SC/ST wésaflan_ G “Qamfled evarGeurt ueamuT en.” Gubupsgeudledr Csélw
15 | uligwe @ensgeur wHmID UPEIGY ebwd L sdHar (NSSH) uriens elerésgs.

Explain the role of (NSSH) National Scheduled Caste and Scheduled Tribe Hub
Scheme in promoting “entrepreneurship culture” amongst the SC/ST population.
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Wifley —

SECTION — B

&y : 1)  geculbeurm alammeih@nd 250 Qemhaens s Wasnwed ctlanLwealsseyLb.

Note : Answer not exceeding 250 words each.

1)  geubeurm cllamain@h udlenesbg WG LS.
Each question carries fifteen marks.
i) Qar@ssuul(heaer @mbg edamssaid erameuCLed BIeNE 6SamTésEnHdsd
L (Hib elle weflssaib.
Answer any four questions out of five questions.
(4x15=60)

Q.No. | psiiyn GurE@Geursg eTarugl B&ilLD  euatiésluiar wsdlu mswrEh. Gsaw
16 | B&miyp Curs@einsgls Asmearams 2006, eeleumm BETUILD eeTiEslsEE Ceweoul [
QUMD eTeTIens puiey ClFuis.
Urban transport is an important component of urban development. Examine the
role of National Urban Transport Policy 2006 formulated to counter these issues.
Q.No. | @bglwé  drrolyp-psilyphisaie.  stariu@b  Lmdlue aatsTheownsEnssrear
17 | Cupunbemer piis.
Analyse Rural-Urban differences of Sexual Assault in India.
Q.No. | epeugnt @rmomdish Sjbewwri Blaae o wisdel emddomll @lés @m Sn
18 | ®luy erpsey.
Write a short note on Moovalur Ramamirtham Ammaiyar Memorial Higher
Education Assurance Scheme.
Q.No. | usews sOPETH gL sdler (psEwggad @Dlsg deungés.
19 Discuss the significance of ‘Green Tamil Nadu Mission’.
Q.No. | &Gy Tss®ss SriughH@h, Sigmear @oeroed GeleughH@Eb 2 fu Qurmrssre
90 | Sreysemers ufipgieny Cewis.

Suggest suitable remedies to solve and eradicate communalism.
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UNIT — III
Hifley — o
SECTION — A

GOl : 1)  geulbeurm elammeiih@n 150 QemhaeEns@ Wanne aleL wefléEsab.

Note : Answer not exceeding 150 words each.

1)  eeuleumm cllamain@d LSS WS LICLesuS6.
Each question carries ten marks.
i) Qar@ssliuc@erer gpssm elamésefled cranauCuwigyd Gretnr( alarmés@hs
L_(Hb eSeL wellésalb.
Answer any two questions out of three questions.
(2x10=20)

Q.No.

21

@remh eumswirar UBGSeld GCorssd epUTl 1 ol gd Psed[H QEuwliil L ar.
@eupbled wpepGu ¢ UaTHEE 9% WHMID 11% el lg oL sHamear. CLISSLTS
Geuailen® WHSH 6T b @ aBLEHNEG 92 % ey o s@@nald, @y
unkiGseld (Psd[H Q&g CFTsmILISE HTETS.

An amount of Rs. 1,00,000 is invested in two types of shares. The first yields an
simple interest of 9% p.a. and the second yields an simple interest of 11% p.a. If the
total interest at the end of one year is 9%%. Find the amount invested in each

share.

Q.No.

22

(5x” + 2x —8), 6(x° +1), 10(x* = 1), (Tx*> +12x +5), (x* +x) eew UOVHILSE
Careveusefer B8.Qum.eu., 5.8.10 sTaTs.

Find the HCF and LCM of the following polynomials.
(5x? + 2x - 3), 6(x* +1), 10(x* — 1), (7x* +12x + 5) and (x? + x)

Q.No.

23

@@ 2aretLpm @by @riear Berd 49 Q.. <igear Geual wHmID 2 6 6L riger
weonCw 10 Qg5 whmb 8 Gsf erafld (1) @@mbys @wmuiear Gwrss LLILFLIL
sraprs. (1) @ @bLE @Gwrulear sar ereneusd srans. Coaib 1 & Ggl @ mbidear eran
8 &lymb erafled @ HOLE GWTUIET cTanL_anuids STeiTs. (7[ = 2—72j
A hollow cylindrical iron pipe is of length 49 cm. Its outer and inner diameters are

10 cm and 8 cm respectively (1) find the total surface area of the pipe (i1) find the
volume of the pipe and weight of the pipe of 1 cu.cm of iron weighs 8 gm

[Take T = gJ
7
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Wil — s

SECTION — B

&My : 1) gaeurm elameilh@b 250 GemhaenseE Wanned cblanL weil&sse,b.

Note : Answer not exceeding 250 words each.

1)  eeueurm elammeiih@b LuSlenenbagl S0 LS.
Each question carries fifteen marks.
i) Qar@ssliul@erer epssm elarmésafledr cranauCuwigyd Gretor( allarmés@hs @
L b HenL wel&EsaLd.
Answer any two questions out of three questions.
(2x15=30)

Q.No. | @0 pergdlar wssdr Osreas wamhsE 6% 6igh fsflsdng. 2018 b el
924 &EEHET CTens 238765 <45 @(HHSS. 2016 LOMID 2020 Wb UETHSETND OE&SHET
QzTensemIs HMeTs.
The population of a town is increasing at the rate of 6% p.a. It was 238765 in the
year 2018. Find the population in the year 2016 and 2020
Q.No. | (@) @uean® Cpreul L o (meneruller 2 rhsaier afldsd 9 8 jeupder 2 wirhigefler
25 Adsbd 2 : 5 erafler supden cuamerLpiiysaier eldsb, Qwmss Lpl LrLiLyseder
Sz, sar jerajsafler cHlSlsn yHliiounHans smes.

(<) @ usoLemwu @uar® wep 2 mlhibd Curg, @rear®d wewpwb Gy eramm
QU(HEUSHSTET HlEDSSHM S &TETs.

(a) The radii of two right circular cylinders in the ratio of 9 : 8 and their heights
are in the ratio 2 : 5. Find the ratio of their curved surface areas, total surface
areas and volume.

(b) If a dice is tossed twice, find the probability of getting same numbers on the
two dice.

Q.No. | @rawn® eramsailar sl (s0sT®ms Wsd aramaflar £ k@ eafled, @rerLmb erer
26

W3 crananfle) THFMET FHEIHD eTETLMSE STes. G @)eucllyeaTh  erarTsaflen
15.8).10.-@eud SIers.

The sum of two numbers is 3 of the first number. Find the percentage of the second

number to the first number? Also find the L.C.M. of the two numbers.

GS1MII/23 10





